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(1-1) y =sinz (1-6) y =tan"'x
(1-2) y = cosx (—o0 <z <00, —T/2 <y < 7/2)
(1-3) y =tanx (1-7) y=e¢
1-8) y=e*
(1-4) y =sin"'z (1-8) y=e
(-1<z <1, —7/2<y<n/2) (1-9) y=m(l —e™®)
(1-5) y=cos™'x (1-10) y = logx
(-1<2z<1,0<y<m) (1-11) y =log(1 + z)
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(2-1) y=e
(2-2) y=uze™"
(2-3) y=e " —e ™
(2-4) y =+ (x> 0)
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(3-1) DooOo sianx—x—DDDDDDDDDDDD
us

2

(3-2) 0000 sinz=2— — 0000000000
m

DDD e =rz000000000000

005|¢07°000000000000000e=271---,7=3.14--- 0000

(5-1) f(z)=z—eclogz (x>0)00000000 f(r)>00000
(5-2) "0 70 00000O0OOODO



